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Introduction to Tennvs T2 rrnv g

Our chapter begins with further clarification of the mechanism of making an 2172y — specifically, how to set
up pmnn 21y on behalf of others. The chapter will then focus on two topics — the parameters of
“residence” for purposes of 1¥nand how the 1¥n/71ap associates with water that runs through it.
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L. ’x mwn:including others in the pminn 2y1y
a.lIf: using a barrel (for example), state “this is for anyone who is going...”
i. Note: pmnn »2171Y may only be made for mxn 727 — Yar ma or nnwnn n’a (wedding) are not just examples
b. Only: those decide about the 21y before naw starts may use it
i. Observation: this seems to support position of n1712 PR - they may not make retroactive determination on naw
1.Rejection (7&x ’7): may mean that they have to be informed about 2vvy before naw
a) But: they may decide on naw if they want to use it — since we hold 07112 v in a context which is 13277
II. »or "v’s ruling about a child until 6 — included in mother’s 219y (and his ownn is defined by hers)
a.Challenge: rulings in re: N30,y about MKRY X"RW j0p is identified as 4-5 years old (by examples of maturity)
i. Answer (8”17 7772 »77): 'OR "V's ruling only if father was 19yn N, mother S (e.g.) — even 6 year-old prefers mother
1.Challenge: Xna rules that until age of 6 — &y with his mother’s 217y
a) Refuration: of »PR 277 112 YW1 "1 — as Rn»1a doesn't stipulate father’s alternate 21y
b) However: this Xn»72 doesn’t refute YoR "1 — as he may have meant "ww 1v” as 9931 1 7Y
c) Nor: is this a refutation of 5”11 'Ry "7 (examples of maturity of 4-5 years) — depends if father is in town
i. If father is also in town, child is independent of mother at 4-5; if not — only at 6
IILInclusion in pmnn »211y — parallel mn’a and the ensuing analysis
a. If: he makes an n”y — includes his minor children and oy or12Y
b. However: doesn’t include adult children, 012y n»7ay nor his wife, unless they consent
i. 2 xpr»azif any of these were included in his 231y and also made their own — their 27’s “trumps” their own
1.Except: for his wife (clarification — wife, adult children and »12y 71y) because she could protest
2.Inference: if she doesn’t protest — she’s included in his — even without explicit consent
a) Answer: “consent” means lack of protest — not affirmative agreement
b) Challenge: in addendum to 2nd xn13, they didn’t protest, yet they aren’t included in 27’s 27vp
i. Answer: their making their own 2y is the clearest form of protest
IV. 2 mwn: amount of food needed for pminn »211y — 2 meals per participant
a. n”r. weekday meal (eat less during the week)
b. 7777’7 n2w meal (since there are 3 meals, each one is smaller)
i. Note: both »1 n™ intend to be lenient; Y21 'non favored n™, as "Naw ®YL1Y XNNY” and Naw meals are bigger
77112 13 12792 77 1oaf of ¥4 ap — worth a 1119 — when 4 nRo costs 1 Yoo (46 11 19=YHD)
. ©”7:2/9 ap of bread (based on 3 loaves per ap — 2/3 of a loaf)
i. a1 these latter 2 nn7yW are nearly identical
1.Challenge: according to 1”27, there are 4 meals in a 1p — to v"1 — there are 9
2. Answer(n”): the storekeeper keeps 1/3 as profit (2727 — 6 per 27", v — 9 — still not “close”)
3.Rather: per other statement of n" — storekeeper profits 50% (2”21 — 8, "1 - 9 — now it’s “close)
a) Note: n"’s two rulings can be resolved — if 2”nya provides wood for baking —»1n only takes 1/3
ii. wmmp 22 V4 this measure for amount of time (to devour it) within which clothes become &nv in yyn n»a
iii. /777177 510 Va this measure of eating mRnv 92X to become RNV and be forbidden from eating nn1In
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V. Final clause of mwn — listing ¥4 that 17»*® for y»n n>11 o1 nrmMY and Y4 for 3 Mo
a. Omission: 1/8 for 19238 nrmY ( V2 of Mw for 1711 YI109)
b. Explanation: amounts aren’t exactly 1:2 acccording to any approach
i. % oo following the dispute v™ vs. 1”727
1.Per v aloaf is 1/3 2p (8 eggs)
a) A7 12 small eggs (V4 019=1 small egg)
b) oy 1 2large eggs (Y2010 -1 large egg)
c)’ar 2.1 eggs (Yavi1a - 1.05 eggs)
2.Per 272>7. aloaf is ¥4 2p — 6 eggs
a) opom 1.5 large eggs (Y4 o9 - .75 egg)
C. P52IR INPIV: ROYVT 1 M) "1 — 1 egg with the shell
i. opom nxa without the navp
d. Tangent: the nRo sent to »27 which he measured to hold 217 eggs
i. Challenge: which nkv-measure was it?
1.If desert ixv. should be 144 eggs
2.1f »n5w17 should be 172.8 eggs (increased by 1/6 over »11n)
3.If »1ay. should be 207.36 eggs (increased by another 1/6 over mn5v1v)
ii. proposal: Max RO + nYn 113 (1/24 - 207+8=215)
1. Rejection: this is still less than 217
iii. Answer: take »27’s surplus (of 1/20 per egg, as he used small eggs) into account — 217(+)
VI. Measures (M=n1170; Y = mnbYwv11; S = mmnaN)
a. x93 M*¥1.2=J;J¥1.2=S
i. Therefore (..): M+1/3=5
ii. Question: how is ™21 1/3 of »max? 1/3 of what?
1.(see drawing): M = 144; 1/3 = 48; 48+144 = 192; but S = 207 (M+63)
2. Perhaps: It means 1/3 J; 1/3 ] =57
3. Perhaps: it means 1/3 S; 1/3 S - 69
a) Proposal: perhaps it means S-M=~1/3 5 1/3S =~1/2 M
b) Challenge: ®n»1a did not use 1p (~), rather, exact measure
iii. Answer: 1/3 S with “surplus” of »a1 (every egg is 1/20 short)
1. Therefore: = 72 1/3 eggs; 1/3 egg more than /2 M
VIIL. Source of measures (vv. 1-2)
a./75rm 110y (per v. 2) — which is 7.2 19=6]=55
i. Note: this is considered the proper amount to eat; less is insufficient and more is unhealthy
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